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Master Comparing Masses

Fluency 1 Fluency 3 5
Circle the word that completes each stem sentence. Write the symbol to compare the masses in kilograms. - g
cC wn

The horse is heavier / lighter than the guinea pig. o3
. Po 7kg 3kg 31kg 40kg g2

The bath pearl is heavier / lighter than the bath bomb. 5 s
53

. @

16kg 16kg 24kg 28kg 23

S 2

Fluency 2 2%
£ O

Complete the stem sentences. Write the symbol to compare the masses in grams. 0=
O wn

The mass of the hamster food is ka. ’Qﬁ
659 599 929 749 i

The mass of the rabbit food is kg. = 2
»n {9

kg is kg. S S

369 479 10g 10g o -

The mass of the hamster food is
the rabbit food.

The mass of the bar of soap is a.
The mass of the shampoo bar is g.
gis Q.

The mass of the bar of soap is
the shampoo bar.
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Fluency 4

Write digits to complete the comparison statements with
kilograms.

53kg > 5_kg 69kg < _ Okg

5kg > _ kg _ 8kg < /29

Write digits to complete the comparison statements with
grams.

88g > _ 99 g < 19

4 g > 449 _ 59 = 959
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Write digits to complete the comparison statements with
kilograms.
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